
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Porcentajes de números (número faltante)

________ × 70% = 46.2 ________ × 10% = 4.4

________ × 60% = 43.8 ________ × 30% = 18

________ × 80% = 23.2 ________ × 50% = 35

________ × 30% = 3.9 ________ × 50% = 48

________ × 20% = 14.8 ________ × 90% = 90

________ × 20% = 12.2 ________ × 10% = 9.4

________ × 70% = 12.6 ________ × 60% = 42.6

________ × 60% = 19.2 ________ × 40% = 28

________ × 50% = 24 ________ × 90% = 55.8

________ × 40% = 15.6 ________ × 80% = 35.2

www.snowmath.com

https://www.snowmath.com

